Government Tender Notice

Invitation of Tender Notice Nos. 15,16,17,18 & 19/Seri/Civil/PCR/PRL/ 2017-'18.

Sealed Tenders are invited by the **Executive Engineer**, Textiles(Sericulture), West Bengal, 45, Ganesh Chandra Avenue,(2nd floor),Kolkata-13 for the following works at Sericulture Units in Purulia under **P.C.R.** from the bonafide experienced and resourceful contractors having experienced in such type of works in pure Govt.Department/Office/Zilla Parishad.

SI. No.	Name of the Work	Estimated Cost	Earnest money	Last date & time of Submission of Tender	Date of opening of Tender	Place of Work.	Time of Comple- tion of work.
1.	Repairing & renovation of *Reeling Shed at T.S.S.S., Raghunathpur, Purulia under P.C.R. work.	Rs.4,30,817/- (Rupees four lakh thirty thousand eight hundred seventeen) only.	Rs.10,770/- (Rupees ten thousand seven hundred seventy) only.	27.11.2017 upto 3-00 P.M. at H.Q., Kolkata	27.11.2017 at 3-30 P.M. at H.Q. Kolkata.	T.S.S.S., Raghunathpur, Purulia.	nonth from the date of issue of Work Order.
2.	Construction of Gents' Toilet attached to Office Building at T.S.S.S.,Raghuna thpur, Purulia under P.C.R.	Rs.1,61,549/- (Rupees one lakh sixty one thousand five hundred forty nine)only.	Rs.4,040/- (Rupees four thousand forty)only.	-do-	-do-	-do-	-do-
3.	Repairing & renovation of Office Building at T.S.S.S Raghunathpur, Purulia under P.C.R.	Rs.3,91,002/- (Rupees three lakh ninety one thousand two)only.	Rs.9,775/- (Rupees nine thousand seven hundred seventy five)only.	-do-	-do-	-do-	-do-
4.	Repairing & renovation of Rearing House at Kapistha Sericulture Farm, Kapistha, Purulia under P.C.R.	Rs.3,70,375/- (Rupees three lakh seventy thousand three hundred seventy five) only	Rs.9,260/- (Rupees nine thousand two hundred sixty)only.	-do-	-do-	Kapistha Sericulture Farm, Purulia.	-do-
5.	Anti-termite Treatment for Office and Reeling Shed at T.S.S.S., Raghunathpur, Purulia under P.C.R.	Rs.53,125/- (Rupees fifty three thousand one hundred twenty five)only.	Rs.1,330/- (Rupees one thousand three hundred thirty)only.	-do-	-do-	T.S.S.S Raghunathpur, Purulia.	-do-

Tender papers (NIT), Priced Schedule & Form-2911 (ii) etc. may be obtained/downloaded from seriwbgov.org

Tender should be submitted/dropped in the box kept at Head Quarters, Kolkata and papers should be arranged in the following manner.

Envelop - I, should be super scribed as Technical Bid for N.I.T No......SL No. of Work, Name of agency and it should contain (Self Attested) PAN Card. Last I.T. Return, GST IN Registration, P.T. Challan, Credential (similar nature of work at about 60% of Tender Value and Pest Control license for works at Sl.No.5) EMD etc. and sealed.

Envelop - II, should be super scribed as Financial Bid for N.I.T. No....... SL No. of Work. Name of Agency and should contain filled in - 2911 (ii) quoting the Rate and Sealed.

2(two) envelopes as noted above (I & II) should be put ion a bigger envelop and sealed. Agency should write clearly N.I.T. No., Name of Work, SL.No. and Name of Agency on this Envelope and drop the same as per schedule mentioned in this N.I.T.

Technical Bid will be opened first. Financial Bid will be opened only if the technical Bid is found acceptable.

Labour cess will be deducted from bill value as per Govt. Rules. All original copies are to be shown for verification. The details may be seen in the Office of the Commissioner of Textiles(Sericulture). West Bengal.45. Ganesh Ch, Avenue (2nd floor), Kolkata-13 on any working days and Website: *seriwbgov.org*. The Commissioner of Textiles(Sericulture), West Bengal reserves the right to reject/cancel all the applications without showing any reasons thereof. If any date as above happens to be holidays the next working days will be considered as stipulated date. Acceptance of lowest tender is not obligatory. N.S.C./K.V.P. will not be accepted as Earnest Money. Only the Bank Draft of a Nationalised Bank will be considered.

Executive Engineer,
Directorate of Textiles (Sericulture),
West Bengal.

Priced Schedule for the Repairing & Renovation of Rearing house at Kapistha Sericulture Farm, Kapistha, Purulia under PCR.

SI. No.	Description of work	Unit	Quantity	Rate	Amount
1	Dismantling all types of plain cement concrete works, stacking serviceable materials at site and removing rubbish as directed within a lead of 75 m. In ground	Cum	9.00	949.00	8541.00
2.	Stripping off worn out plaster and raking out joints of walls, celings etc. upto any height and in any floor including removing rubbish within a lead of 75m as directed.	Sqm	140.00	19.00	2660.00
3.	Plaster (to wall, floor, ceiling etc.) with sand and cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course, scaffolding/staging where necessary (Ground floor).[Sqm	25.00	189.00	4725.00
	(i). With 1:4 cement mortar, 20 mm thick plaster. (ii). With 1:4 cement mortar, 15 mm thick plaster	Sqm	80.00	163.00	13,040.00
	(iii). With 1:4 cement mortar, 10 mm thick plaster	Sqm	50.00	131.00	6550.00
4.	Neat cement punning about 1.5mm thick in all,dado,window sill,floor etc.	Sqm	45.00	38.00	1710.00
5.	Ordinary Cement concrete (mix 1:1.5:3) with graded stone chips (20 mm nominal size) excluding shuttering and reinforcement if any, in ground floor	Cum	7.50	6549.94	49,125.00
6.	Ordinary Cement concrete (mix 1:2:4) with graded stone chips (20 mm nominal size) excluding shuttering and reinforcement if any, in ground floor	Cum	3.50	6040.24	21.141.00
7.	Dismantling artificial stone flooring upto 50 mm. thick by carefully chiselling without damaging the base and removing rubbish as directed within a lead of 75 m.	Sqm	40.00	50.00	2000.00
8.	Artificial stone in floor, dado, staircase etc with cement concrete (1:2:4) with stone chips, laid in panels as directed with topping made with ordinary or white cement (as necessary) and marble dust in proportion (1:2) including smooth finishing and rounding off corners	Sqm	40.00	354.00	14,160.00
9.	Supplying profiles of required section made of Aluminium Alloy Extrusions conforming to IS: 732-1983 and IS: 1285- 1975; Annodized (with required film thickness and specified colour / natural) matt finished conforming to IS: 1868-1983 for fabrication of composit door, sliding & casement windows, partitions, formed of basic sections of any ISI embossed / certified make and brand as per direction of Engineer - In-Charge. (Payment will be made on finished length of the work). A). In 10-12 Micron thickness Annodizing film b) 3- track sliding window i) Bottom frame ii) Top and side frame.	M	7.00 22.00	366.00 317.00	2562.00 6974.00
	d) Shutter for all track sliding window. i) Bottom & Top member. ii) Style side member. iii) Interlock member.	M M M	25.00 45.00 31.00	138.00 140.00 176.00	3450.00 6300.00 5456.00
10.	Labour charge for fabrication and installation of composite door, window , partitions made from annodized extruded alloy aluminium sections for the following units:- A) Glazed aluminium sliding windows made of extruded and anodized alloy aluminium sectios, fabrications, including cutting to proper shape and size, drilling and aligning of window shutter frame fitted with in built locking arrangements, sliding rollers and other necessary fittings, fixture, adhesives and joineries along with extruded neoprine or EPDM gasketing in between window frame and masonry work (walls, column, beam.lintels etc.) as well as between glass and shutter frame for fixing glass and Polysulphide sealant and in between shutter and window frame where necessary including cutting to requisite size and fixing glass as per drawing, specification and direction of EIC.	A			

Executive Engineer,
Directorate of Textiles (Sericulturte),
West Bengal

	(i). 2-trak sliding window				
	(ii). 3 -trak sliding window	Sqm	9.00	703.00	6327.00
		Sqm	12.50	905.00	11,312.00
11.	Supplying PVC rollers for sliding windows as per direction of Engineer in charge.	each	44.00	15.00	660.00
12.	Supplying maruti lock (100mm)	Each	18	56.00	1008.00
13.	Supplying bubble free float glass of approved make and brand				
	conforming to IS: 2835-1987. iii) 5mm thick clear glass.	Sqm	18.00	628.00	11,304.00
14.	Supplying, fitting & fixing fibre reinforced polymer (FRP) Composite door shutters as per approved design with glass fibre reinforced plastic moulded skins and a special sandwich core, so as to impart monolitaheic composite structure as per approved technology of Department of Science and Technology (DST) to satisfy IS:4020 door testing performance criteria. In ground floor (i) 32 mm thick	Sqm	5.50	3263.00	17,947.00
15.	Fly proof Shutters of door and window of as per design with steel net supplying including teak wood batten, fitting and fixing in position 35mm thick shutters with Gamari wood.	Sqm	5.50	3591.00	19,750.00
16.	Supplying, fitting and fixing Steel fly proof net for fly proof shutter including teak wood batten	Sqm	25.00	1624.00	40,600.00
17.	White washing including cleaning and smoothening surface thoroughly. 2 coats.	Sqm	410.00	18.87	7737.00
18.	Applying Exterior grade Acrylic primer of approved quality and brand on plastered or cencrete surface old or new surface to receive decorative textured(matt finish) or smooth finish acrylic exterior emulsion paint including scraping and preparing the surface throughly, complete as per manufacturer's specification and as per direction of the EIC.	Sqm	220.00	34.04	7489.00
19.	Protective and Decorative Acrylic exterior emulsion paint of approved quality, as per manufacturer's specification and as per direction of EIC to be applied over acrylic primer as required. The rate includes cost of material, labour, scaffolding and all incidental charges but excluding the cost of primer.	Sqm	220.00	92.00	20,240.00
20.	Painting with best quality synthetic enamel paint of approved make and brand including smoothening surface by sand papering etc. including using of approved putty etc. on the surface, if necessary: On steel or other metal surface.	Sqm	125.00	86.00	10,750.00
21.	Wood work in door and window frame fitted and fixed in position complete including a protective coat of painting at the contact surface of the frame exluding cost of concrete, Iron Butt Hinges and M.S clamps. (The quantum should be correted upto three decimals).	Cum	0.105	83,652.00	8783.00
22.	M.S.or W.I. Ornamental grill of approved design joints continuously welded with M.S, W.I. Flats and bars of windows,railing etc. fitted and fixed with necessary screws and lugs in ground floor.	Kg	220.00	82.47	18,143.00
23.	Supplying fitting and fixing I.R.C. fabric mesh with covering battens including cost of screws etc complete (excluding the cost of battens). In ground floor. a) 50mm x 25mm x 2.7mm x 2.7mm.	Sqm	5.00	263.00	1315.00
24.	Collapsible gate with 40mm x 40mm x 6mm Tee as top and bottom guide rail, 20mm x 10mm x 2mm vertical channels 100mm apart in fully stretched position 20mm x 5mm M.S. flats as collapsible bracings properly rivetted and washered including 38mm steel rollers including locking arrangements, fitted and fixed in position with lugs set in cement concrete and including cutting necessary holes, chasing etc. in walls, floors etc. and making good damages complete.	Sqm	3.70	3726.00	13,786.00
25.	Supplying profiles of required section made of Aluminium Alloy Extrusions conforming to IS: 732-1983 and IS: 1285- 1975; Annodized (with required film thickness and specified colour / natural) matt finished conforming to IS: 1868-1983 for fabrication of composit door, sliding & casement windows, partitions, formed of basic sections of any ISI embossed / certified make and brand as per direction of Engineer - In- Charge. (Payment will be made on finished length of the work). a) 2- track sliding window b) Bottom frame	M	5.00	257.00	1285.00



	ii) Top and side frame.	M	23.00	229.00	5267.00
				/.	
26.	Iron Hasp bolt fitted and fixed.	Each	2	193.00	386.00
	300 mm x 16 mm dia bolt.				
27	Iron but hinges fitted and fixed.	Each	12	52.00	624.00
27.	100 mm x58 mm x1.9mm				
28.	S.F and Fixing G.I. pipe of 40 mm dia including all accessories.	М	40.00	347.00	13,880.00
			Total	Rs. 3,70,3	75.00

Rs. 3,70,375.00

(Rupees Three lakh seventy thousand three hundred seventy five only) $\,$

Executive Engineer

Directorate of Textiles (Sericulture)

West Bengal